
Solve.Using place value partitioning 

 

1  18 + 10 =  

 

 

11 44 + 79 =  

 

 

2 67 + 11 = 

 

 

12 52 + 89 = 

 

 

3  26 + 85 =  

 

 

13 77 + 30 =  

 

 

4 . 31 + 62 = 

 

 

14 37 + 16 =  

 

 

5  47 + 35 =  

 

 

15 35 + 99 =  

 

 

6  65 + 48 =  

 

 

16 13 + 26 =  

 

 

7  90 + 50 =  

 

 

17 33 + 86 =  

 



 

8  80 + 20 =  

 

 

18 75 + 44 =  

 

 

9  55 + 96 =  

 

 

19 24 + 27 =  

 

 

10  86 + 15 =  

 

 

20 62 + 32 =  

 

Design your own maths addition challenge and share with a family member 
 

 
 
 
 
 
 

   

 
 
 
 
 

   

 
 
 
 
 
 

   

 
 
 
 
 
 

   



 


